e




a5

WEREWEBIE RFME

+ #

E!.!I
i

Fk&ELT,
FRIE _ (/l\%ﬁ#ﬁil)/ Al EBCEEEEL&Y . 15.20|= 15| m3
EHERTEA, UMRELXT) , 05[m3:IBREE]/0. 9 EH - 0.56|= 1] m3
pa pd /]
7 —
EBRA Al EB/CEMETEE &Y 0.50|= 1] m3
P 7 7
B iEN L=2.0km 15.2[m3:FR{E &1-0.56[m3:BRIFAE]= 14.64|= 15| m3
VA Z Z 7 2z i
R BRIERELRE 14.64|= 15| m3
< Z| P




- xm) sus -

(&%) - FEHE )
5B Y £ (m3) B+ (m3) @D BRERY 09| # Wt SREAEE ()
A K/l M C1: {2 Hl C2:EKiE &t B1:E+ B2iEERE i mE+ 8 AL | FEt | FEL | AL | B + cLyt@EH UL @M
A | Fy|EE|OtE| 5E | 08 |@=0+C iE | @12 | iFE | O+ 8 [©0=0+6 ©. /D] m3) | m3) | md) | md) | m3) [#EE| @ e @8
No.0-1-0.4|/ 0.20], 0.6] 0.1} 0.1 0.1
No,0-1|/ 0.40|, 5851 0.6}~ 3.5, 3.5 3.5
No,0}. 1130« 9.30L 0.6 5.6 5.6 5.6
No,1|. 7.30l« 4.70|- 0.6]¢ 2.8 2.8 2.8
No,2|~ 210\, 1.95)- 0.6)” 1.2}/ 1.2 0.1], 0.2] 0.2 0.2 0.2 1.0
No,3|” 1.80 2.10|” 0.6F 131 1.3 01l 0.2y 0.2 0.2 0.2 1.1
No,4 240 1.20 4 0.6} 077 0.7 011 0.1 0.1 0.1 0.1 0.6
it 25.30) 15.20 15.20¢ 0.50 0.59 0.50] , 0.50 14.70
{ / v



NO.2

Bz

Vi

6.33[m2] x 1.20[% b E]= 7.60|= 76 |, m3
rd -
BEHRRIE RERALRE 7.60|= 76|, m3
£
BREER < 0.25" x 25.3[™)= 6.33|: 63| m3
P > L P
BER HEREE) 0.036"™ x 25,3 = 0.91}2 09| m3
- Z 4 -
BERBKAIIS-H, t=10mm —~ (0.5 %40 635 95 TR 30.87|: 31| m2
Z yd
. L Z
R ) ]
B UBRRIEN OBV R 4508 25,30 23| m
& - e s z z
BBTKET M-12Xx5X5 1.0|= 1| @& | Gooot
7 ~ P d -
UFERBRT 450%! 3.0 3| @A [ Gooo2
l Z| Z <
UFBRERT 4508 7 10 1| &FF | GOoo3
z
UFBI -8 4508 25.0|% 25| &
£ rd
RIgavy)-+T #-8-2588_, 0.0 2R ¢ 19 lmIBTHR] = 0.38]3 04| m3

v ¥




FEEIATL _

EI!.!I
I

Hom

NO.3

SEL BERHETA2F | sigg (HER $EaERHE] & 6.90= 69| ma
-~ 7 s y ) -~
RS 5 i
BT, HEMEREN2 7 | i (HER $EEIEREE] &Y 6.90| = 69| m2
= P s

77




FRBEVBREL,

Hom

‘%II!.!l
Ly

UL 1)) MRS BT

PR PN ;*ﬁ*,;gy/;x/)_wﬁ;_iwgg 1.00 /1 fotm/zs]xo_1’34[mn/:s] /9 Es[mn/ma:aamfmiaz O'OE 0'1 m3 G1ool
BEERvy)-bEYSHL o.1/o 01} m3
R 10.3“"]+o.9['"]+2.0[1'“]+2.1/['"]= 15.9 18, m
SRR ACNRE) GEEBEIHERE 6.90 69| m2

< 7 p Z z




%

E%
L

EXEREWLET |
EEREDERT -
:&ﬂ&ﬁﬁﬁiﬂ% L=4.6km BREL )M EBETIEEEE 0.06|= 01| m3
e *
|- ERER 7 L=4.6km ¢ BBt ThLBERE 0.10|= 01| m3
) /
TATIMBEMES L=4.6m / 690m2: SR RB ) X 0 04 218 02g)= 03| m3
l/ 'I
EXERYLET
—REREMNEE 7 sz 7 0.06[m3: —RE GEFHERE] X 235 BiAEER] 0.14|= 0.1 | ton
10,000 /ton / 3 / P ) 7 ~T
R LER WG 4 | 3 AR - N BEAHERE] x 2 35 B E 0.24|= 02 ton
2,500 /ton ) L P
7 > »
wxsz 7 . —_ . = .
TAIPMNEMLEE 2 000F /ton ¢ 0.28[m3:FA77 L MBEH R E] ¥ 2.35[BIARE R]= 0.66|= 07| ton
/ / / ,I .




HFERETL

L

PR TRE - HE

2/ O WL

L ey ———




e

AR THABHEEHRE
EIC]E e E¥8EH IR | R ImmEk|SARERA B 5 e

3 8. RS 32.00 m3/H . 04

BHAUL—X) 7 5 2200 m3/8

BERAD 7 et 1470 m3/8

BAUL—R) + 2200 m3/H

HERARD) < e+ -E L 11.80 m3/H

URI 4R+ T (L=1000) 4300 m/HB

ERRaIT” [E20cmET 155.00 m2/H

BRI 7 INRYREAEY 15.00 m2/H
[EDT D INEI ) 5.00 m3/H

BT’ INEIAESE ) 15.00 m2/H 96.4[m2]/100[Ff] x 3.0[EFf1=2.89 =2.9[m2]
:>’J'J7i~I’ INEEEY 5.00 m3/H 0.2'm3 _H_ |8.26[m3]/100[{FT] x 3.0[/1=0.24=0.2[m3]
g INREESE 1500 m2/B|  04'm2 3 B 44.2[m2]/100[f#F] x 1.0[#1=0.44=0.4[m2]
avsy—kT’ INBUEEYD 5.00 m3/H 0.04'm3 | B [3.88[m3]/100[& K] x 1.0[& F7]=0.04=0.04[m3]
kR TERE Y FRTROEICEER T EEERIC PR R EMELEERRET S,




Vo — 7 B




i

i

[Gooo1] BB T KEL M-12x5x5
V4 7
e aan
EWRE f%f;’ f 7URC-40 1 hotml ¢ 1 gl = 1.600|= 160| m2
Z pl -~
Cd
BT sMa 1.5 x 0,65 x 2B glm) x 0,651 x o[BI 2.990),
<« 7 4 7 < z i 4
m{ﬂ“ 7 1_2[m] x 0.65["'] x Z[EFEJ_‘_O.S[m] X 0.65[m] x Z[Eﬁﬁ]z 2910
7/ s Z i Z -
202 (0.03141m P21, 70651 m2HP-5000 77 tm2:U 20Ty ¢ (~1)= A 0379}
Vi 7 P ol P - p4
&t 4821|= 482 m2
7| 7
_ a_ v / V4 4 Pz 4
EP)-MTR \1,\?/352?5%8, 08! x 151 x 0.651™-0,51™ x 1,20 x 051™= 0.480),
2] = (0.0314m2:HP-200] 4 6705 m2:HP-300) 1y 595 [m2:U-a50y o g y5lm] o (_4)= A 0057
Y < PR LA v P p y
&t 0.423|= 042 m3
(/ /
v 4
. . T—-14 1200 X 500
V- ERE = . : 1.000|= 100 #%
< SB447 P . p

RERIMUREXRAKESR



o Ke

it ' B £ L) R
[Go0oz] UF##§3% T~450% 100BBF 5734
7 7 b "
BR(MEEY) AEREtER u?;ﬁ%ﬁaﬁl—wo_ﬂ}%iﬁ HERIKLY 96.400|= 9640 m2
d Wi Py < 7~ (/

gEavhy—p INRViEEY —

18‘8‘2588(W/C§60%) Y _ﬂg%i / E“%R[E‘I’E U$i§*ﬁgﬁl_450ﬂ*§jﬁ ﬁﬁlﬁ]cjﬂd 82@ : 856 ITI3
7 r 48 rd L r 4

EHRIHBRBEXEHAFESS



[Gooo3) u’%ﬁ}%ﬁr—m_ﬂ

B E E &

/00&'/?%7‘: YEH
BBROUMEED - RI#E[EHE R USREiE T 4502 A H HER]LY 44.200|= 4420 m2
z - L
. —_ ) A
15-0-350000 00, | Rkt HHRIEHEE USRS TS0 RER L) 3880 = 388| ma
d P

EHFRI MG REXREAFESS




"~ [G1001] REE

L

B

i

L0y HREMEL 20— = KB

No 4

Ly - L

737 INRHELT 10,0QIme S EEL R 10.000|= 1000 m3
7 7z Z z -~
WA s 10,00t S 10.000| = 1000 | m3

L, P v

7

RERIBHREXFARESS




